o - i o i o 1

m

isﬁ[

|
| 1 1
|

DETAIL 1 ‘

HANRAIL DETAL

— 38MM @ GI. HOLLOW PIPE
1500 1500 1138

(I | I

Detail 5 Detail 3
/!

l / etail 6
2 PDetail 2
s ,“l“
Detail 1

1

g Detall
g

—8

1 1800 w75 |

130

wGl:1.4m

HANDRAIL DETAL

38MM @ GI. HOLLOW PIPE
M10 G.I. DROP IN ANCHOR BOLT
C/W NUT & WASHER.

FULL FILLET WELDING JOINT
6MM THK PLATE

<3
L R.C WALL / SLAB

DETAIL 1

o

Full fillet welding joint
6mm thk plate

38mm @ Gl. hollow pipe ———
M10 G.I. drop in anchor bolt —\
CIW nut & washer.

DETAIL 2

38MM @ GI. HOLLOW PIPE

FULL FILLET WELDING JOIN
38MM @ GI. HOLLOW PIPE

DETAIL 3

FULL FILLET WELDING JOIN 38MM @ GI. HOLLOW PIPE
38MM @ GI. HOLLOW PIPE

38MM @ GI. HOLLOW PIPE

DETAIL 5

DETAIL 2

FULL FILLET WELDING JOINT

38MM @ GI. HOLLOW PIPE

FULL FILLET WELDING JOINT

TYPICAL SECTIONAL CONNECTION DETAIL OF HANDRAIL

WATER LEVEL AT QPEAK TAT
WATER LEVEL AT QAVE

SUS304 M10 DROP IN ANCHOR BOLT

7 NUT C/W WASHER /

s — B _
H,m |,|l lgl f— IL OF EFFLUENT

LAUNDER =3.06

90° V-NOTCH WEIR FOR CLARIFIER g

TOTAL LENGTH OF WEIR = 1.5M X 4 NOS = 6M 63 ns. pe.

NOT TO SCALE

O3

DETAIL OF LIFTING DAVIT
NOT TO SCALE

TYPICAL PLAN VIEW OF PIPE TO PIPE CONNECTION

DETAIL BEFORE WELDING

E EDGE OF CONCRETE
L 7
_):
M10 G.I. DROP IN ANCHOR BOLT
6MM THK PLATE _/L C/W NUT & WASHER.

FULL FILLET WELDING JOINT 38MM @ GI. HOLLOW PIPE

SECTIONA-A

—— EDGE OF CONCRETE

r:] — 6MMTHK PLATE

M10 G.I. DROP IN ANCHOR BOLT
C/W NUT & WASHER.

I~ FULL FILLET WELDING JOINT
38MM @ GI. HOLLOW PIPE

SECTIONB -B

FULL FILLET WELDING JOINT:

38MM @ GI. HOLLOW PIPE

DETAIL 4

FULL FILLET WELDI! 25MM @ GI. HOLLOW PIPE
25MM @ GI. HOLLOW PIRd ﬁ

38MM @ GI. HOLLOW PIPE

DETAIL 6

25MM STAINLESS STEEL

31X 25 X 250 MM STAINLESS STEEL FLAT BAR.
10 NOS. 3 MM STAINLESS STEEL BAR AT 25MM CC.

100 THK. CONC. SLAB.

DETAIL OF STAINLESS STEEL RAKE Toumms
NOT TO SCALE

M.S. SLEEVE FOR LIFTING DEVICE
NOT TO SCALE

Top portion of the static
screen

25 x 6 thk s.5 flat bar
ciw 6 thk s.5 plate at
at the bottom

s.s. rubbish basket.

6 thk s.5 plate

DETAIL OF STATIC SCREEN
NOT TO SCALE

38 X 3MM THK M.S. FLAT BAR

o >

38 X 38 X 3MIM THK M.S. ANGLE BAR
‘y' ANTISKID LINE é '}ﬁ 1331

BB
SECTIONC-C

ANTISKID LINE OF R.C STAIRCASE M.S. GRATING COVER
NOT TO SCALE NOT TO SCALE

NOTES:-

1. ALL DIMENSIONS SHOWN ARE IN MILLIMETERS (MM),
UNLESS OTHERWISE SHOWN

2. ALL LEVELS SHOWN ARE IN METERS.
ALL LEVELS SHOWN ARE FROM MEAN SEA LEVEL

3. THIS DRAWING TO BE READ IN CONJUNCTION WITH ALL OTHER
RELEVANT DRAWINGS,GENERAL NOTES AND SPECIFICATIONS.

REFERENCE DRAWINGS

SL.No| DRAWING No. DESCRIPTION

0 [15-09-'15| DETAILED DESIGN SUBMISSION JP Ss MA

REV| DATE DESCRIPTION DRAWN|CHKD{APPRD |
REVISION
CLIENT
MINISTRY OF ENVIRONMENT & ENERGY
REPUBLIC OF MALDIVES
CONSULTANT: ]

toiirr Bawdia)l O))LAR0W dus) u."&
Al-Habshi Consultants Office

Tel.: 2430103 / 2433131 - Fax : 2431136
P.0.Box 27154 Safat 13132 - Kuwait

PROJECT:

Provision of Water Supply Facilities in 04 islands and
Sewerage Facilities in 05 islands -

GDH.Gadhdhoo Island - Republic of Maldives

DRAWING TITTLE:
TYPICAL DETAIL OF COMPACT SEWERAGE
TREATMENTUNIT-GDH.GADHDHOO ISLAND

DESIGNED | DRAWN [CHECKED[APPROVED| SCALE | DATE
AH P ss MA  |as sHown 15-00-15
PROJECT No.[SHEET No| DRAWING No.
K619 |10F1 GG-SW-123
REV. No. 0

Copyright © 2015 by Al-Habshi Consultants Office




